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But what happened ? Where in the physics ! ? Answer later
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Unlike real-time formalism

e-- [ < sea,s%⇔g.ÑÑⁿʰ
Andi .

Lonnie>]
for a free months bosom @ (P) : 21T Elms (Pi . F)

↳
DH - P2) vanishes

D= d -17--4 - ZE MB C- P ) = - (7-1 Mrs /P))
→ e = / DDP

µ ,y
,

P2 ( Tt MB (M)) 21T ECM) S(Poi - P2) = fd
" P2 [¢-1M , ( P) - t - m ☐ C- P) ](21T)d zp

g)
thermal fluctuation

P [ T= fddp
2

+ Mpg (P)] = f dᵈP pm, ( P) =
IT'T "

(21T)d ( 21T )ᵈ 30

↓
vacuum fluctuation (killed by Dr)
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Not the way thermodynamics is usually computed (see Laine Vuorinen
,
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